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1  New Statesman, 14 xii 1973
White to move and win ;
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1 Ng2
After 1 Nf5 e2 2 Ng3+ Kf3 3 Nxe2 d2 4 Nd4+ Ke4, Black is off the hook.
1... c2
If 1 ... d2, then 2 Nxe3 Kxe3 3 Bg5+ Kd3 4 Bxd2 wins.
2 BgS €lQ
3 Nzxel d2
4 Nd3
White steers clear of 4 Bxd2 stalemate — an ideal mirror stalemate.
4 ... d1Q
If 4 ... dIN, then 5 Nc5+ wins.
5 Ni2+ wins.

The following piece shows the same idea but in a different setting.
E. L. Pogosyants, Ceskoslovensky Sach, xii 1965

White: Kg6 Bh4 Ne6 Pe3 Black: Kh3 Pf3,g3 White to move and win
1 Ng5+ Kg4 2 Bxg3 2 3 Nf3 f1Q 4 Nh2+ wins.



2 EG, vii 1977 ' 7 7 7 7
Composed with W. H. M. Lemmey . /A /% //ﬁ 3 /%
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White to move and win % f//; %%_ %

1 Ne4
1 Rh1+ allows Black to escape with a draw: 1 ... Kg5 2 Ne4+ Kf4 3 Nxg3 Kxg3.
1 ... Rh3
The only reasonable move, given the threats to Black’s rook and king.
2 Rgl
If White tries 2 Kf6, then 2 ... Kh5 3 Rgl f2 draws.
2 ... Rh2
Or 2 ... 2 3 Rxg6+ Kh5 4 Nf6+ Kh4 5 Rg4 mate.
3 Rxg6+ Kh5

4 Ng3+ Kh4
5 N5+ Kh5
Or 5 ... Kh3 6 Rg3 mate, an echo of the mate shown in the previous note.
6 Ki6 Rg2
7 Rh6+
The moves 7 Ng3+ Kh4 8 Nf5S+ KhS merely waste time.
7 ... Kg4
8 Rh4 mate.

The mates themselves are familiar enough; it is their combination that makes the
study.
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White to move and win
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1 Bd5+
If White starts with 1 BxaS, then 1.. Ne5+ 2 K~ Nxc6 gives Black a draw.
Standing on d5, White’s bishop is still vulnerable to a fork, but there is a dif
ference.

1 ... Kh8
After 1 ... Kf8 2 Bh6+ K~ 3 Nxd3, White is well ahead.
2 Bxa5 Nf4+
3 Ki7 Nxd5
4 Ng2 Kh7

5 Ke6 wins.

The following study produces the same finish from more elaborate play.

J. Fritz, Suomen Shakki, v 1952

White: Kh3 Ba2,g3 Ng8 Black: Kh1 Ba5 Ni5 Pe5,g5 White to move and win

1 Bf2 ¢4 2 Bxc4 g4+ 3 Kxg4 Bel 4 Bd5+ Kh2 5 Bxel Ne3+ 6 Kf3 Nxd5 7 Ba5 ~
8 Ke4 wins,
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White to move and win _ %/ﬁ. %,,4 % %
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1 Nd3+
As White must play to win material, this is clearly the way to start.
1 ... Ke2

The alternative, 1 ... Kdl, offers little resistance: 2 fxe6 Rf8 3 Bxc6 Rc8 4 Ne5
wins.

2 fxeb
White avoids the line 2 Nxf4+ Nxf4 3 Bxcf, for it leads only to a draw: 3 ... Ke3
4 6 Ne6 5 £7 Kf4 6 Kc4 KeS 7 Bd5 Nf8 8 Kc5 Ki6 9 Kd6 Ng6.

2 ... Rd4
After other moves, White wins easily enough: 2 ... Rf3 3 Bxf3+ Kxi3 4 Ne5+, or
2 ... Rf6 3 Bxc6 Rxe6 4 Nfd+, or 2 ... Rad4 3 Bxc6 Ra3+ 4 Kb4 Rxd3 5 BbS. As it
is, White is compelled to save his knight before making another capture.

3 Ncl+ Kd1

4 Bxc6
White may be making progress, but Black is not yet finished.
4 ... Rd6

5 Bd7 Rxe6!
The move 5 ... Kxcl loses to 6 €7.

6 Nd3!
A good riposte. If Black plays 6 ... Re4 to guard g4, then 7 Nf2+ wins, and we see
the same result after 6 ... Re3 7 Bgd+ Re2 8 Nf4, or 6 ... Re2 7 Bad+ Rc2+
8 Bxc2+. Black has one other option, but it turns out to be no better than the
others.

6 ... Rg6
7 Bad+ Ke2

8 Nf4+ wins.
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Judge’s Choice % % / %

Roycroft Jubilee Tourney, 1978 % %
Composed with W. H. M. Lemmey % V//%

White to move and draw
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1 Nf8
White sets out to deal with Black’s dangerous pawn. Other moves allow Black to
gain a decisive advantage: for example, 1 Ng5 a4 2 Ke5 (2 Nf3 a3 3 Nd4 a2 4 Nb3
Ne3(e7)+) 2 ... a3 3 Ne4 Ka8 4 Nc5 Nb4 5 Kd6 Bd5 wins, or 1 Ke4 a4 2 N8 a3
3 Nd7 (3 Bb8 Nc3+ 4 Kd3 a2) 3 ... a2 4 Nc5+ Ka8 5 Nb3 Nc3(f6)+ wins.

1... a4
2 BbS

If White tries 2 Nd7, then 2 ... a3 3 Bb8 Ne7+ 4 Ked Nc6 wins.
2 ... Kxb8

Or 2 ... Bh7+ 3 Ke6 Kxb8 4 Kxd5 a3 5 Kc4 a2 6 Nd7+ Kc8 7 b7+ Kxb7 8 Nc5+
Kcb 9 Nb3 Bg8+ 10 Ke3 Bxb3 11 Kb2 draws.

3 Nd7+ Kc8

4 b7+ Kxb7

5 Nc5+ Kcb
I 5 ... Kb, then 6 Nxa4+ KbS 7 Nb2 draws,

6 Nzxa4 Bh7+

7 Kg4!
Otherwise 7 ... Be2 is good for Black: for example, 7 Ke6 Bc2 8 Nb2 Kc5 9 KeS
Nb4 10 Kf4 Kd4 wins.

7 ... Ne3+
If 7 ... Be2, then 8 Nb2 Kc5 9 Kf3 Kd4 10 Ke2 draws.
8 Kif3 Nd1

9 Ke2 Bc2
10 Nc3 Nxc3+
11 Kd2 draws.
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1 Bh2
White must pull the queen away from its dominating position.
1 ... Qxh2

If 1 ... Nd3, then 2 Bxf4+ Nxf4 3 Nc6+ leads to mate in two more moves.
2 Nc6+ Ka8

3 Kc8
Now Black has no choice but to sacrifice the queen.
3 ... Qb8+

4 Nxb8 Ka7
4 ... h2 allows a mate in two moves, and 4 ... Na4 allows a mate in three.
5 Kc7 h2
Or 5 ... Nc4(d3) 6 Bxc4(d3) h2 7 Nc6+ Ka8 8 Ba6é with mate next move.
6 Bb7 h1Q
Black has to sacrifice another queen to avert immediate disaster.
7 Bxhl Nd3
If 7 ... Nc4, then 8 Bb7 Na5 9 Bd5 Nb7 10 Nc6+ Ka8 11 Na5(d8) Ka7 12 Nxb7
wins.
8 Nco6+
Moves by the bishop are ineffective: 8 Bb7 Nb4 9 Nd7 Na6+ 10 Kc8 Nb4 11 Bg2
Ka6 draws, or 8 Bg2 Nb4 9 Bb7(f1) Nd5+ draws.

8 ... Ka6
9 Bg2!  Kb5
10 Bfl Kc4

11 Ne5+ wins.
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1 h7
Other moves are easily refuted: for example, 1 Nxe5 Rxh6+ 2 Kd4 Bxb3 wins, or
1 Bg5 Nxf3 2 h7 Rd6+ wins.

1 ... Bxh7
After 1 ... Rd6+ 2 Kxe5 Bxh7, there is a straightforward draw.
2 Kxe6

Otherwise Black quickly gains the upper hand: 2 Nxe5 Rd6+ 3 Kc4 Rxd8 wins, or
2 Ng5 Rh6 3 Kxe5 Nxd8 wins, or 2 Ba4+ Kxd8 3 Kxe6 Nxf3 4 Bc6 Nd4+ wins, or
2 Bc7 Nxf3 3 Kxe6 (3 Ba4+ Ke7) 3 ... Bg8+ wins.

2 ... Nx{3
Now Black is going to win one of the bishops, but White has something up his
sleeve.

3 Kie!

» 3 ... Nxd8

3 ... Kxd8 4 Bd5 draws.

4 Ba4+ Kf8

5 Be2 Bg8
6 Bh7 Bf7
7 Bg6 Beb6
8 BfS Ba2
9 Bbl draws.

> 3 Nd2

3 ... Nc5 can bc met by 4 Bf7+ or 4 Bd5(d1).
4 Bf7+ Kxd8
5 Bg6 Bg8
6 Bf7 draws.
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1 Ne7+
The line 1 Kf4 c2 2 Bxc2 h2 is obviously hopeless for White. To deal with Black’s
advanced pawns, White needs to make use of all his pieces.

1... Kh7
Other moves give White an easier time: 1 ... Kg7 2 Ke5 b2 3 Nf5+ wins, or 1 ...
Kf7 2 Nxd5 h2 3 Nxc3+ wins, or 1 ... Kf8(h8) 2 Ng6+ Kg7 3 Nf4 wins.

2 Kf6!
Otherwise Black will soon be in a position to promote a pawn: 2 Kf4 h2 3 Bxd5
¢2, or 2 Nxd5 h2 3 Nf6+ Kh8, or 2 Bc2 h2 3 Ke5+ Kh8.

2 ... h2
2 ... Kh8(h6) 3 Ngb6(f5)+ wins.
3 Bxd5 c2

3.. h1Q 4 Bxhl 2 5 Be4+ Kh8 6 Ng6+ wins, or 3 ... Kh6 4 Nf5+ Kh7 5 Ne3
wins.

4 Bg8+
White avoids 4 Be4+ because of the sequel 4 ... Kh8 5 Ng6+ Kg8.
4 ... Kh6
Or 4 ... Kh8 5 Kf7 ~ 6 Ng6 mate.
5 N5+ Kh5
6 Bd5 Kg4
7 Ne3+ Kg3
8 Nxc2 K2
9 Nd4 wins.

If play were to continue, the concluding moves might be 9 ... Kgl 10 Nf3+ Kg2
11 Ng5+ Kgl 12 Nh3+.
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Co;nposed with J. S. Speelman W % %¢ %/ %//é
White to move and win /J % % //
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1 Kc6
Threatening immediate mate. Anything else leaves White with only a draw at best:
for example, 1 Nd4 Rc5+, or 1 Be3 e1Q 2 Kc6 Qcl+ 3 Nc5S+ RxcS+ 4 BxcS e3+
5 Rxf3 Qhl, or 1 Rb8 ¢1Q 2 Rb6+ Ka7 3 Be3 (3 Rb7+ Ka6) 3.. Qg3+, or
1 Ra8+ Kb5 2 Rb8+ Kc4 3 Rbl, after which Black can (at least) win back a piece
by 3 ... Ra6 4 Rcl+ Kb3 5 Kd7 Bg4.

1 ... e3+

2 Rxf3
The pressure on Black’s king is now somewhat reduced, but an immediate
promotion of the pawn is still fatal for Black: 2 ... €1Q 3 Nc7+ Ka7 4 Bxe3+ wins.
So Black’s best option is to move his rook.

2 ... Re5
If 2 ... Ral, then 3 Rxe3 €1Q 4 Rxel Rxel gives White a decisive advantage.

3 Rxe3 Rxe3
Now the capture 4 Bxe3 leads to 4 .. €1Q 5 Nc5+ Ka5, and the alternative
capture 4 dxe3 leads to 4 ... e1Q 5 Nc5+ Ka7. So White checks first and captures
afterwards.

4 Nc5+ Ka$5
If 4 ... Ka7, then 5 Bxe3 e1Q 6 Nd3+ wins.

5 dxe3 elQ

6 c4! wins.
The last move opens one diagonal (h6-d2) and closes another (hi-c6), leaving
Black with no defence.
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White to move and draw
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1 Bg4
1 h8Q is met by 1 ... Rg3+, after which 2 Khd4 d1Q 3 Qb2+ (3 Qf6 Qf3) 3 ... €2
4 Bg4 Qhl+ 5 Kg5 Qf3 wins, and 1 Nxd2 is met by 1 ... Rh5+, after which 2 Kg4
exd2 3 Kxh5 (3 Bc2 Rxh7) 3 ... d1Q+ 4 Kgb6 Qd4 wins.

1 ... Rxg4

2 Nxd2
White still refrains from promoting the pawn, since 2 h8Q d1Q 3 Qb2+ Kifl
4 Qf6+ Kgl wins for Black.

2 ... exd2
If 2 ... Rgl, then 3 Ned4+ Kf3 4 Ng5+ Kf4 5 Kh2 draws. If 2 ... Rg3+, then 3 Kh2
leads to a draw in one way or another: 3 ... exd2 4 h8Q d1Q S Qb2+ Kf3 6 Qf2+,
or 3.. Rg2+ 4 Kh3 exd2 5 h8Q d1Q 6 Qd4+, or 3... e2 4 h8Q elQ 5 Ned+
Qxe4 6 Qb2+ Kf3 7 Qf2+.

3 h8Q diQ
4 Qb2+
4 Qf6+ loses to 4 ... Qf3+.
4 ... Kf1
5 Qf6+
That S QbS+ fails is shown by the sequel 5 ... Kgl 6 Qb7 Rg5 7 Qb6+ Khl.
5 ... Kgl
6 Qc3!

If White tries 6 Qc6, Black wins with 6 ... Ki2 or 6 ... RgS5. As it is, with White’s
queen on c3, Black is in zugzwang. Ken Thompson of Bell Laboratories, New
Jersey, wrote a computer program at the suggestion of John Roycroft to discover
all reciprocal zugzwangs with this force. The position we have now reached was
the one and only position that was found.

6 ... Rd4(a4)




Other moves by the rook give White no trouble: for example, 6 ... Re4 leads to
7 Qg3+ Kfl 8 Qg2+, and 6 ... Rg2 can be met by 7 Qel+ or 7 Qd4+. Moves by
the king prove to be no better: 6 ... Khl 7 Qc6+ Kgl 8 Qhl+ draws, and there is
another draw after 6 .. Kif2 7 Qb2+ Ke3(f3) 8 Qc3+ Ke4 (8.. Kf4 9 Qd2+)
9 Qcd4+ Kf5 10 Qc2+. The only reasonable move for the queen is 6 ... Qe2, but
this allows White to draw yet again: 7 Qcl+ Kf2 8 Qc5+ Kif3 9 Qc3+ Ked(f4)
10 Qe5(d2)+.

7 Qel+  Qxel

Stalemate.

11 The Problemist, ix 1987

2nd Commendation s %y %/ /%7 %’/4
Tourney of 1986-1987 % ﬁ % % %

. % 7 7 7
White to move and draw A% %;/ﬁy _

1 Bg3

1 Bxab6 loses to 1 ... Qa2+.
1... QdS(ed)+
2 Kh3

To guard h4, as required in the finale.
2 ... Qxb7

3 Bh4+  Kc7
If 3 ... Kc8, then 4 Ne7+ Kc7 5 Bg3+ Kd8 6 Nc6+ leads back to the main line.

4 Bg3+ Kc8

5 Ne7+ Qxe7
Or 5.. Kd8 6 Nc6+ Kc8 7 Ne7+. By taking the knight Black prevents this per-
petual check - but opens the way to another.

6 Bxa6+ Kd7

7 Bb5+ Ke6

8 Bcd+ Kf5

9 Bd3+ draws.



This idea goes back a long way. Compare the following presentation of the theme.
J. Sehwers, Endspielstudien, 1922

White: Ka6 Ba5,g6 Nf5 Black: Ke2 Bf2 Pg2 White to move and draw

1 Ng3+ Bxg3 2 Bh5+ Kfl 3 Bgé glQ 4 Bh3+ Ke2 5 Bg4+ Kd3 6 Bf5+ Kcd

7 Be6+ draws.

{
f

A

§\\.\§\

N\
B -
\3"\\
=5
e\

12 New Statesman & Society, 22 ix 1989
Ist-2nd Prize
Assiac Memorial Tourney, 1987
White to move and win
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1 g7
Otherwise White’s winning prospects soon disappear: 1 Kf6 Rxa2 2 g7 (2 Nf7 Kg4)
2 ... RaB 3 Ng6 Bh6, or 1 Bd5+ Kg4 2 g7 Ra7+, or 1 Be6 BeS5.

1 ... Ra7+
2 Kf6

Not 2 Kg6 on account of the reply 2 ... Rxa2.
2 ... Be5+

If 2 ... Bg5+, then 3 Kg6 wins.

3 KxeS Rxg7
Black is now threatening to pick up the other white pawn by 4 ... Rg5+ or 4 ...
Rh7.

4 Nf7
Nothing else will do, as the following lines show. 4 h6 Rh7 5 Nf7 Kg4 6 Bb3
(6 Kf6 KhS5) 6 ... KhS 7 Bdl+ Kg6 8 Bc2+ Kxf7 9 Bxh7 c4 draws. 4 Bd5+ Kgé
5 h6 Rh7 6 Nf7 Kh5 draws as in the previous line. 4 Bb3 Rg5+ 5 Kdé RxhS
6 Bdl+ Ke3 7 Bxh5 c4 draws. 4 Ng6 Kg4 5 Kf6 (5 Nf4 Rg5+) 5 ... Rh7 6 Bb3
Kxh5 draws.

4 ... Kg4
Other moves serve Black no better. 4 ... Rh7 5 Ng5+ wins. 4 ... Rg4 5 h6 Rh4

6 h7 Rh5+ 7 Kd6, and now 7 ... Rxh7 8 Ng5+ Ke3 9 Nxh7 Kd4 10 Nf6 c4 11 NdS




wins, or 7 ... Ke3 8 h8Q Rxh8 9 Nxh8 Kd4 10 Nf7 c4 11 Ne5 wins. 4 ... Ke3 5 h6
Rh7 6 Be4 wins: for example, 6 ... Kd2 7 Kd6 Ke3 8 Kxc5 Kf4 9 Kd6 etc, or 6 ...
Kf2 7 K6 etc.

5 Kfé6
Not 5 h6 because then 5 ... Rh7 draws.
5 ... Rh7

6 Kgb Rxh5

7 Be6+ Kh4

8 Bc4 wins.
White’s last move leaves Black in zugzwang: White wins only because it is Black to
move.

13 British Chess Magazine, vi 1989
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1 Nc4+ Kd4
2 Nxd2 Nxd2+

3 Kcl
3 Kc2 Nxel+ is good for Black, and so is 3 Kb2 Nxel 4 dxe4 Nc4+ 5 K~ NeS.
3 ... Nb3+

If 3 ... Nxel, then 4 dxe4 Nb3+ 5 Kd1 Ng2 6 €5 draws, for the pawn will reach the
sixth rank before being blocked by a knight.

4 Kdi
4 Kb2 Nxel is again good for Black, in view of the sequel 5 dxe4 NcS 6 5 Ne6.
4 ... Ne3+

5 Ke2 Ncl+
6 Kd2 Nxd3
7 Nf3+! exf3
Stalemate.



=

/W..../Ar//%
//@///%
///%//%
Lol [«
RGN
SEE NN
//%/////

Composed with C. M. Bent

14 British Chess Magazine, xi 1993
White to move and win

elQ+
Two pieces down, Black plays to recover some material. If 1 ...

1 Ngf4
(or 2 Kd6 etc, as in the main line) 2 ...

Re5+, then 2 Nxe5

elQ 3 Ne2+ Kc5 4 Nd3+ wins.

Re5+
Rxel

2 Nzxel
3 Kdé6

Ke4

4 Ne2+

Or 4 ... Kc4 5 Bf7 mate.

5 Keb

Threatening 6 Bf3 mate.

Be3

5 ...

6 Ra3!
By covering al, White leaves the black rook without any safe move.

hé6

6 ...

hS

8 Bxh5 wins.
Black is in a squeeze: any move will be fatal.

7 Bga
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Composed with C. M. Bent . W% % %//// %

White to move and win ?’% % %gy %%
&

1 Nc7+
If White plays to win Black’s dangerous a-pawn, he will lose control of the
position: 1 Nb4+ Ke6 2 Nxa2 Bxh4. If he plays 1 Nf3 or 1 Ng6, Black can easily
counter the threat of 2 Nc7 mate.

1 ... Kxe5
2 Ngb6+ Kdé
3 Kbo

This threatens 4 Be5 mate. The defensive move 3 ... Ne6 allows 4 Ne8(b5)+ Kd5
5 c4 mate, and if Black parries the threat by 3 ... Nd4, the quickest finish is by
4 Bg3+ BeS 5 BxeS mate. So Black chooses to exchange bishops.

3... Bd4+

4 Bxd4 Nxd4
Now White can threaten mate again by advancing the c-pawn, and Black’s only
defences prove self-defeating.

5 c4

» 5 ... Ngeé6

6 Ne8 mate.
Nde6
Nb5 mate.
“ee Nb3
d4 alQ
oS+ Nxc5
dxc5 mate.

v
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6th Commendation
Tourney of 1995
Composed with C. M. Bent
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1 ... Nc2+
On 1 ... Nxb3, White plays 2 a6 and wins quickly: 2 ... Nd4 3 a7 Nxf3+ 4 Kf2 Bd5
5 Nxb6+. If Black starts with 1 ... bxa5, the move 2 Nxal gives White a decisive
advantage.

2 Kd2
If White attacks the knight by playing 2 Kd1, Black secures a draw by 2 ... Ne3+
and 3 ... bxa5.

2 ... bxa$
If Black plays to keep or exchange the knight, he will get nowhere: for example,
2 ... Kxb3 3 axb6 Nb4 4 b7 Na6 5 Nc5+, or 2 ... Nb4 3 axb6 BdS5 (3 ... Nab 4 Be2+
Kxb3 5 Bxa6) 4 Nb2+ Kxb3 5 Bxd5+ Kxb2 6 b7 Na6 7 Bc4 Nb8 8 Kd3 Ka3 9 Kd4
Kb4 10 Kd5 Ka5 11 Kc5, or 2 ... Nd4 3 Nxd4 Kxd4 (3 ... bxa5 4 Ne2 Kb4 5 Nec3)
4 axb6. On the other hand, by leaving the knight to be captured Black can develop
some counterplay.

3 Kxc2 Kb4
Now Black is poised to play 4 ... Kxa4 as well as 4 ... Bxb3+, and this leaves White
with only two options. On 4 Nac5, Black plays 4 ... Bc4!, after which the threat of
5 ... a4 proves too much for White: the manoeuvre 5 Bc6 a4 6 Bxa4 Bxb3+ pro-
duces a draw. So White moves the other knight.

4 NbcS!
This gives Black the chance to win one of White’s pieces, but White still comes
out on top.

4 ... Be8

5 Na6+! Kxad

6 Kb2

Now Black must choose between the loss of his bishop and instant mate.
» 6 ... Kb5




7 Nc7+ wins.

» 6 ... Bd7
7 Nc5+ wins.

» 6 ... Bb5
7 Bdl mate.

> 6 ... Bf7
7 Bc6 mate.
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1 dxe4+ Kc4

If 1 ... Kxe4, then 2 Rf4+ KdS 3 Be3+ wins.
2 Rc6+ Kb3
If 2 ... Bc5, then 3 Rxc5+ wins.

3 Rd3+
Avoiding the line 3 Rb2+ Ka3 4 Ra6+ Bas.
3 Ka4

If 3 ... Ka2, then 4 Rc2+ Kbl 5 Rb2(c1)+ K(x)cl 6 Be3+ wins.

4 Ra6+  BaSs

5 Rxa5+ Qxal
If 5 ... Kxa5, then 6 Bc3+ wins.

6 Bf2!
Creating a zugzwang. The moves 6 Bc3 and 6 Bc5 are both refuted by 6 ... b4, and
6 Bb2 is refuted by 6 ... Qel as White gains nothing from the sequel 7 Ra3+ Kb4
8 B3+ Qxc3 9 Rxc3 Kxc3.

6 ... g5

7 g4

» 7 ... b4




8 RdS5 wins.

» 7 ... Qb4
8 Rd4 wins.
» 7 ... Kb4

8 Bel+ wins.

18 Shahmat, ix 1999
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1 ¢c5
White was in danger of being mated, most immediately by 1 ... Rxc4+ and 2 ...
Bd6. The move 1 cxd3 simply invites another mate in two by 1 ... Bd6+ and 2 ...
Rc4. If White tries 1 Rxg3, he still loses quickly: 1 ... Rxc4+ 2 Ka3 Kxa5 3 Rg4
Ne5 4 Rd4 (4 €7 Rxg4) 4.. Rxd4 5cxd4 Nc4 mate. By playing 1 c5, White
protects his own king and also creates potential threats against the black king, for
the move opens the ¢2-a6 diagonal.

1 ... Bdé6!
After 1 ... Ne5 2 Rxg3, or 1 ... Nc2+ 2 Kxb3, White has nothing to fear. As it is,
White is again threatened with mate in two, this time by 2 ... Rxc5 and 3 ... Red
The reply 2 cxd6 leads to 2 ... Red+ 3 Ka3 Kxa$, with mate to follow shortly. If
White gives his king an escape route by playing 2 c4, then 2 ... Rxc5 3 Kc3 Rxcd+
wins. If he tries 2 Rfl, then 2 ... Rxc5 3 Rxal Rxa5+ 4 Kxb3 Rxal wins. The only
good move is...

2 Rf8!
Now Black cannot play 2 ... Rxc5 because of the reply 3 Ra8 mate, and any
capture of the white rook allows 3 Be2 mate. Moreover, if Black plays 2 ... Nf4 to
guard e2, White can still give mate in a few moves: 3 Be2+ Nxe2 4 Rxc8 Nc2+
(4 ... Bxc5+ 5 Kxc5) 5 Ka4 etc. So there is only one way for Black to continue.

2 ... Bxc5+




3 Ka4
4 Be2+

4 e7 leads to 4 ... Rc4+ 5 Ka3 Bxe7 mate.
Rcé4+

dxc4

Nxe7

4 ..
5 Bxc4+
6 e7
7 g6
Stalemate.

White’s final move lands Black in zugzwang,

Bxf8

—~

19 The Problemist, v 2001

Honourable Mention
Tourney of 2000-2001
Composed with P. V. Byway

White to move and win

1 Ndé6

Qg4

If 1... Kf3, then 2 Qg2+ Ke3 3 Nc4+ Kf4 4 Qg3+ Ke4 5 Qhd+ (or 5 Kg2) wins.
If 1... Ke3, the reply is 2 Nc4+ after which 2 ... Ke4 3 Qg2+ Kf4 4 Qg3+ takes
us back to the line above and 2 ... Ke2 3 Qg2+ Kel 4 Kgl wins immediately.

2 Qxd4+

3 Qd3+
Or 3 ... Kf2 4 Ned+ etc.

4 Qed+

5 Nxf7+
Or 5 ... KhS 6 Qh7 mate.

6 Qel+

Kf3
Kf4

Kg5
Kh4

6 Qh7+ Qb5 7 Qed+ Qg4 is just a waste of time. Other moves forfeit the win
altogether: 6 Qe7+ Kh3 7 QcS+ Kh4 8 Qf2+ KhS 9 Qc5+ achieves nothing but
repetition, and 6 Qe3 Qe2+ 7 Qxe2 leaves Black in stalemate.

6 ...
7 QasS+

Kh5

Kh4



8 Qd8+ Kh5
9 Qh8+ wins.
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1 e7!
1 Kif7 Bf8! 2 Kxf8 alQ 3 7 Qxd4 puts Black in a winning position, a possible
sequel being 4 Kf7 Qd7 5 fxg5 Qxc7 6 g6 Qcd+.

1 ... alQ

2 Kf7
2 Kd7 allows Black too much freedom: 2 ... Qxd4+ 3 Kc8 (3 Ke6 Qed+ 4 K~
Qxe7+ 5 Kxe7 gxf4) 3 ... Qed 4 ¢8Q+ Qxe8+ 5 Nxe8 g4 6 Nd6 g3 7 Nf7+ Kg7
8 Ne5 g2 9 Nf3 Bxf4 10 Kd7 Kf6 11 Kc6 Bg3 12 Kd5 Kf5 wins. If White tries
2 Neb6, then 2 ... gxf4 3 Kf7 Qa4 4 Nxf4 Qd7 5 Ne6 Bg5 6 Nxg5 Qf5+ wins.

2 ... Qa4
The only move. The interpolation of 2 ... Qa2+ invites the reply 3 d5 after which
White has a winning advantage (3 ... Qa4 4 e8Q+ Qxe8+ 5 NxeB gxf4 6 d6), and
the move 2 ... Qel loses immediately to 3 Ne6.

3 e8Q+
Otherwise White will soon be overwhelmed by the power of Black’s queen.

3 .. Qzxe8+

4 Nxe8
4 Kxe8 loses to 4 ... gxf4.

4 ... g4
4 ... gxf4 5 Nd6(f6) draws.

5 ds
5 £5 and 5 Nd6 are both defeated by 5 ... g3.

5... Bxf4




5..g3 6 d6 g2 7 d7 draws.

6 dé
6 Ki8 constitutes a fatal waste of time: 6 ... g3 7 d6 g2 wins.
6 . Bxd6

After 6 ... Bd2 7 d7 Ba5, the simplest way for White to secure a draw is by 8 Nd6
£3 9 Nc4 Be7(d8) 10 Ne3.
7 Nxd6 g3
Now how is White to catch the pawn?
8 KfS8! g2
9 Nf7+ Kh7
10 Ng5+ draws.

An old position prompted the composition of the present piece.

K. H. Hannemann, Skakbladet, xi 1927

White: Kf7 Ne8 Black: Kh8 Pg4 White to move and draw

1 Nd6 g3 2 Kf8 g2 3 Nf7+ Kh7 4 Ng5+ draws. Note that in this setting the order
of White’s first two moves can be reversed.



